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When the l@f more than one error cancels the accounting
effectof each other, it is called?

sating error

ntrol accounts are maintained for all of the following
EXCEPT;

Depreciation
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Expired portion of direct cost is a part of
Cost of sales

Control accounts are maintained for all of fakkowing
EXCEPT,;

Depreciation

Service fee received is a

RevenueExpenditure

Cotton thread to make the fabric in manufacturing concern is
Raw material

Control accounts are maintained for all of the following EXCEI®T
Depreciation

Mostly, controlraccounts are maintained for
All optiens

Which-of the following is an error of principle?

A receipt of Rs. 50,000 from a debtor is recorded as Rs 5,000
in his account

€€€€€¢€Ceccececcecceccececcecceccececcecceeccececccececccececcee

A payables ledger control account had a closing balance of R::
9,000. A discount received of Rs. 500 had been omitted to rec:rd
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In this control account. What should be the correct balance of
payables control account?

Rs. 8,500 credit
Expired portion of dect cost is treated as

Cost
Not realizable value of inventory

Selling pricei further costs to sell

Which of the following should be debited:for issue of raw
material to production department in‘manufacturing concern?

Finished goods account

Underperiodic system @f.secording inventory purchase of
inventory is recognized,as

Stok

Purchasesof building costing Rs 500,000 is recorded in repairs
account. What will be its effect on net profit?

No effeCt

Which of the following should bdebited on sale of completed
goods on cash basis in manufacturing concern?

Cash account
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If some financial information is completely forgotten to record
the books of original entry. Such error is known as

Error of omission

Which of thefollowing should be credit on sale of completed
goods on credit basis in manufacturing concern?

Sales Account

Cost of inventory=?
Sellingi Further costs to sell
Shipping supplies consumeddsnsidereds?
Selling expense
Expired portion ofditeet cost is treated as
Expense
Discount received from a creditoraseditedunder main head:
Income
Accumulated depreciation of furniture is a/an

Contra assetaccount

€€€€€¢€€¢€€¢€dececccdecececcccececececcecceccecececceccecceccecececcececes
€€€€€¢€€¢€ececececcecececcecccecececcecccecececececececceccecceccecceccecee
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If Work in Process closing inventory is providednial balance,
thenthat in inventory is treated in:

Balance Sheebnly
Factory overhead is a/an.
Cost
Purchases Rs.500, Carriage outward R€&50ss\Sales Rs. 700
andGross
Profit Rs. 100. NePurchases =?
Rs. 50
Carriage inward iglebitedundér-main head:
Expenses
Capital introducedhythe ownesra_
CapitalReceipt
Factory.overhead cost = Power & fuelst+__.

Indirect material cost

Consumed direct supplies are considergd
Costof sales

All of the following items may appear in Trade payable control
account
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EXCEPT:
Bad debts

When correct accounting effect (Dr/Cr) is given inwWreng
accounting head as well as the wrong main head, it is Knewn :

Error of principle
The unexpired portion of direct cost is treahsd
Assets

A control account is an individual-aceount that appeatisan
General ledger

Mr. X receives a discount«f Rs. 50 fromswpplier.

The discount is debited

To discount allowed@aecount. What will be its effect on net
profit?

Understated by Rs. 100
A cr e ditblagccaurd is gsedmnto record all the transactior
related-to:
Credit purchases

While preparing a Debtors Control Accou@tedit side posted
items cause:

€€€€€¢€€¢€€¢€dececccdecececcccececececcecceccecececceccecceccecececcececes
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Decrease balmncdebt or sob
Which of the following is a Revenueceipt?
. Salesrevenue

Direct cost is also known as:
Prime cost

A minor repair to a photocopy machine was' paidash. Correct
entry

Was made to cash account but no entry was made to other
account. What will be thdebit effect.of journal entry to rectify
this error, if there is suspense account in trial balance?

Photocopy machine-repairaccount
A new accountant of ABC Corporation l@gpared the trial
balanceBut
There is differencein total of both sides a@dltbalance: such
difference
Can be due to:

All of the given options

Mostly, control accounts are maintairfed:
All of the given options

When correct accounting effect (Dr/Cr) is giverniha wrong
accounting

€€€€€¢€€¢€€¢€dececccdecececcccececececcecceccecececceccecceccecececcececes
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Head but the main head remagwrect, is known as:

Error of commission

If the debit side of trial balance is heavier thiam credit side,
suspense

Account will bewrittenon_

Credit side

¢¢ecceceecceecececeeecceeee

Purchases Rs.500, Return inward Rs.50,/Gross Sales Rs. 70(®anc
GrossProfit Rs 100. NetPurchases =?

Rs.500
All of the following items app€ar on credit sioETrade
receivable
Control account EXCEPT
Chequesdishonored
Purchase rettirn accousta/an .
Contra.item
Which-of the following Organization convertsv material into
finished?
Goods?

Manufacturing concern

If the credit side of trial balance is heavier tki@an debit side,

€€€€€¢€€¢€€¢€dececccdecececcccececececcecceccecececceccecceccecececcececes
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suspense
Account will bewritten on.

Debit side
Carriage outward idebitedunder mairhead:
Expenses

In a manufacturing concern, rent of office building.is included |
Operating expense

Income =?

Profit i expenses

¢€eceececeecceecceecceececceececeee

A payables ledger controlsacceunt had a closing balance of R::
9,000.A v
Credit purchase oft\RS»500 had been omitted to record in this :
contmol M
Account. What,sheuld be the correct balance of payables coni®al
account?

Rs.9,500credit

All of‘the following items may appear firade payable control
account

EXCEPT:

Cashpurchases

Which of the followingis anerror ofprinciple?
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Purchasesof vehicle is recorded irrepairs account

When correct accounting entry is recordethmbooks of
accounts but

The amount in both according effe€ir(& Cr) is wrong, itfis
known as:

Error of original entry

Total factory cost = Primeost+ :

Factory overheadcost
Unconsumed shipping supplies are considased

Current asset
Leather to make jackets in.manufacturing concgrn
Raw material

Which of thefollowing is/are thiinction offinancial
accounting?

All of'the'given options.
Work'in process closing inventoryagan:
Asset

A payables ledger control account hadasing balance of Rs
9,000.A
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credit sales of Rs. 500 had been omitted to record ircdmiol
account. What should be the correct balance of payables cont
account?

]

Rs.9,000

Note (33 & 42 credit purchases = (payable control account) ar
credit sales = (receivables control account).

A debtorsd control thhe count
transactions related
Credit sales

w

Discount allowed to a debt@ Debitedwundemain head:
Expenses

A receivables ledger conirel*account hadasing balance of Rs.
9,000. A

dishonoreccheque-ef*Rs. 500 had been omitted to record in th
control

account. What'should be the correct balance of receivables
control aceeunt?

€C€€€€€€€€C€€CEEECCCCeCeeeeeeedeeeeeeddceeeceeddedcedceeeeeeeeeees

Rs. 9;500debit
Wnconsumed direct supplies are considasd
Inventory

Unfinished goods are called.
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Work in process

Salaries expense of Rs. 5,000 is recorded as(Rs.

What will be its effect on net profit?

Overstatedby Rs.4,500

All of the following itemsmayappear in Trade receivable contrc
account

EXCEPT:

Credit Purchases

Expenditure incurred to acquire the'patent righttierbusiness is
an

example of:

Capital expenditure

Loss on revaluation of fixed asset should be chaged

Profit anddess-account

While“preparing a Debtors Control Aaoat, Debitside posted
items

cause:

| ncr ease bamancede bt or s o6

Expenses are also known as:
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